Quiz— Complementary & Supplementary ~~~ Name

Date

If the complement of an angle is 63°, what’s its supplement?

The compleme‘ { of an angle plus half of the supplement is 126 What's the measure of the
angle? :
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2 angles are complementa‘w@ne of the
measure of the larger angle?

An angle is 68°32’ Find the complement of half of this angl
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Given £1 = 103°. Use the diagram at right to fmd‘%e

measures of the angles.

£2=)¥0- 1oy = 777
£3= )Yl 77°
4= | 4 )



If 2 an acute angle is bisected, the resulting angles are (@a@sometimes/never) both acute.

F
Given: ZFiscomplto £FGJ, ZHis compl to ZHGIJ |
GlJ bisects ZHGF
Prove: /F=/ZH e H
1. Given
.
ZFG) = ZHG) 2. f)pii Qs
2\ {— = i\ H 3. Congruent Compl. Theorem




